Paper: B.E_B.Tech
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Exam Shift: | 1
Langauge: |Kannada
Topic: Mathematics-Section A
Iltem No: 1
Question
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Question
Type: MCQ
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Topic: Mathematics-Section A
Item No: 2
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D- 100602
Question
Type: MCQ
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Topic: Mathematics-Section A
Iltem No: 3
Question
D- 100603
Question
Type: MCQ
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Topic: Mathematics-Section A
Iltem No: 4
Question
D- 100604
Question
Type: MCQ
Quest T3S0ew IR0 WIINY THos WSNTFT, NBITTY B0

uestion:

cos ~1(x) = 2sin ~(x) = cos T (2x) AWeTTED DR VOTOTNY HRTY WY, BTN,
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Topic: Mathematics-Section A
Item No: 5
Question
D- 100605
Question
Type: MCQ
Question: | ™ ® € {A, v} Q00T 30BNRTINTE.  (pxq)@(p @ ~q) OIN 3335?\)"?)333 SNTT, ©n
uestion: s, @)imodwﬁ@ :
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Topic: Mathematics-Section A
Item No: 6
Question
D- 100606
Question
Type: MCQ
2,000 BOT a 0P WOTI 9BNTL. DR (v, y) e RXR—{(0,0)}7} 2,000 RBOIB(0TF)
Question: o 5 - - o - - %xg
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Topic: Mathematics-Section A
Iltem No: 7
Questi
Dot 1100607
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T;Jpees: on MCQ
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Topic: Mathematics-Section A
Iltem No: 8
Question ID: | 100608
Question
T;pe:I MCQ
Question: aeN7, NI 3097 RROLOPIW, R={(x,y) :3x+2y 030 73 MIE03eNT3} 0
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Topic:

Mathematics-Section A

Item No: 9
Question
D: 100609
Question
Type: McQ
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VWY 60% SPHEN OBFS BEOINTVT. D& VEHFNL DR VLHFNPNOZ
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Topic: Mathematics-Section A
Item No: 10
Question
D: 100610
Question
Type: MCQ
3 _ .2, 14y .2 , g sl 4
y=y(x), xe (0, w/2) 03334@553 (sm 2x) dx+(831n 2x+2sindx)y=2e " (2sin2x+cos2x),
Question:
B3R y(m/4)=e T, O[IOIT FNCITRT BVOTICT ©FTe803NCYD, &R y(m/6)
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Topic: Mathematics-Section A
Item No: 1"
Question
D 100611
Question
Type: MCQ
Question: TR0 P2 =2—-31 R[OOI Pware’_acQa&-odaﬁ@ﬁ VT A}Lﬁ?fﬁ% R(0, 1)
T 0m039 Be0ATS POR $5H5G ©owdeosR)
A 0, 1)
B: (2, —1)
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Topic: Mathematics-Section A
Item No: 12
Question
D 100612
Question
Type: MCQ
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Code BT x*+y’-x+2y =, T FOTNTI =FH Podn J33 HoedT
Question: | ZOTOTONTD. CRVOTHAT TPLT THH VR Seadodw, CPBeaiod BeSR -
8RS, YOOLO[HA Toe QB RVODINYY B IR, FeORIW. ¥R §ude
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Topic: Mathematics-Section A
Item No: 13
Question ID: 100613

Question Type: | MCQ

Question: 72022 +32022 9333, 5 0T GONATIN WTIR IeHP) :
A: 0
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Topic: Mathematics-Section A
Item No: 14
Question
D- 100614
Question
Type: MCQ
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Question: Lt
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Topic:

Mathematics-Section A

Item No: 15
Questi
Do 100615
Questi
T;pees: ion MCQ
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Topic: Mathematics-Section A
Item No: 16
uestion 100616
Questi
T;Jpees: 1on MCQ
Question: P+y?=12z=0R 33 DIT WOWDIOW 2 +3y+2z = 6 AWZVE ATT LOWT

SO enn aderdanh 39NE SR® ®3Bedny HedHIH ?

A: (6x+5y—12)2+4(3x+7y—8)2=1, z=6—2x —3y
B: (5x + 6y —12)2+4(3x +5y—9)2=1, z=6—2x — 3y
C: (6x +5y—14)2+9(3x + 5y —7)2=1, z=6—2x — 3y
D: (5x + 6y —14)2+9(3x + 7y —8)2=1, z=6—2x — 3y
Topic: Mathematics-Section A
Item No: 17
Question ID: | 100617
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Type: MCQ
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Question: f(x)= — T >0, ﬁ@% e3e3odn 14 Hﬁ%ﬁ am 5e3odn
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Topic: Mathematics-Section A
Iltem No: 18
Question
D- 100618
Question
Type: MCQ
o BB vy DD Fooss RS RoBRPNSY. 20y reRA g(fw) = x
SROWOBD fix) =ax®+ B> +yx,x € Rﬁa@’ig :R—R a09. ay, Ay, Ay, ..., &, N NWIVOZT
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Topic: Mathematics-Section A
ltem No: 19
Question
D- 100619
Question MCQ
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A: — 30
B: —31
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Topic: Mathematics-Section A
Iltem No: 20
Question ID: | 100620
Question
Type: MCQ
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Topic: Mathematics-Section B
Iltem No: 21
I%‘feS“O” 100621
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Topic: Mathematics-Section B
Item No: 22
Question
D: 100622
?ue§tion Numeric Answer
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P(-2 -1,1) @3 (32,12, 1| ne> PRQS Zemg e donteandd. g RST
Question:
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Topic: Mathematics-Section B
Iltem No: 23
Question
D: 100623
_?;pees:tion Numeric Answer
f:10,1] » RO3R f{0) =330 f{1) =58NANT (0,1) 3 & ITIARND L0IZwoNTo.
Question: | 3¢€&3 y=2x+3 030 (0,1)IY B[O TR VT, VOWNRYY oy N, PHeDATT,
SR f'(x) =0 SATOT x € (0,1) BYS BDF Vowdne FoB,0do
Topic: Mathematics-Section B
Item No: 24
Question
D: 100624
_?;pees:tion Numeric Answer
3 1523
i | dr=av2+BVB o B Red TemProdnw, SAGS o+p O3
Question: Q
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Mathematics-Section B




Item No: 25
Question
D- 100625
_?ues.tion Numeric Answer
ype:
A 1 -1 - B 1 s » |2 2 i
Slo o R DPF, 5[ o peRESNTI. (A+B)"=A"+ = 7 OR), SUTBWD «
Question:
S BE0I0 o DB (A+BP = B2ZARAHT oS B o, 8NGS SR o —ay| &
talofovey
Topic: Mathematics-Section B
Item No: 26
Question
D- 100626
?ue§tion Numeric Answer
ype:
P.qeRA fix) = (x—p)*—q=0AR BINE ST FTWH, BonedReee, Y x e R DR
. q>0&SNS. FTAO p D) FIoIT TRRT, WIYIAWT FBROIT FeRAD ay, ay,
QUESION: | oy 02, 80O, DR 1=1,2,3, 4,1 |f(a;)]=500 SNGT fix) =08 pORY SOS
NTBes BIADY
Topic: Mathematics-Section B
Item No: 27
Question ID: | 100627
1Q_ue§tion Numeric Answer
ype:
x2 yz
©TBOTOOD H:x?—y? =12 OePrag E: a—2+?=1,a>b>0,ﬁ
1) EOR w03eomdodn HI eudeorsdn @8 R0eond.
Question: ( ) v~ B q%’-i
5
(2) Desd y=J;x+K O30 Eh3) HE Houms, ATF5eoNs.
i 4(@2+b?) 8 3S30dw
Topic: Mathematics-Section B

Item No:
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D- 100628
Question .
Type: Numeric Answer
1
x; = 33D ATIOF, TVWEOF) 5 ADT 1y, Ty, X, -y Lpp DO nRReET 3eRoNTA.
Question: | B x; YR, (1;—i)2 NPT WBOR 2OT VAR TTWOT/D), TWRSHND. B
TTYOTT FODRO ¥ BNTJ, &Ny NOT TR wpew FINB pebefieNolaepipel-ov)
Topic: Mathematics-Section B
Item No: 29
Question ID: | 100629
?ues.tion Numeric Answer
ype:
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3 , P
Question: . (x+2cosx) +2(x+2cosx)? +3sin(x+2cosx) | ¥
m —
3 i =
x—0 (x+2)” +2(x+2)? +3sin(x +2)
Topic: Mathematics-Section B
Item No: 30
Question
D 100630
?ues.tion Numeric Answer
ype:
3x2-9x +17 5x*>—7x+19
o 3 = T, BATRWT A WoRm R0BNY X8ne B3P
Question: | x2+3x+10  3x*+5x+12 —— T 3 -
Topic: Physics-Section A
Item No: 31
Question ID: 100631

Question Type: | MCQ
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Topic: Physics-Section A
Item No: 32
Question
D: 100632
Question
Type: MCQ
2,000 [N WO ¥R Ikm/h I FTeT wITY NCC Sdew® ﬁdo@%&iﬁ. 20T
. DOFF gsatjg 19.6 m QTTTY BPETLE 2.0TH BP0 WO WVIRND TOORT, zﬁe@#o:itﬁ.
Question’ | Zpas 0P, HBOIR FEET ST Vehs BUE HIBOT IT) BROBYHS ?
(G203 g=9.8 m/s?)
A 5m
B: 10 m
C: 19.8 m
D: 245 m
Topic: Physics-Section A
Item No: 33
Question
D: 100633
Question
Type: MCQ
ROR DG TodeenndQ 5kg Todod 2.0 I 5 ms ™ xITY BOTT TR 8ed
Question: | 23¢3 rir*etﬁri%*ab WRW %mmﬁ (i) 3 Foz® (i) 5 Bdow® et aaﬂea’ﬁ aacb:e‘tﬁ
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A: NOBHL TFORNYY SWAT e IF AT STFen DI, FTFO WONRW 2.0T¢ SN,
B: DTTR TFTEONET SIen wore SNT ST FTIHO WO YIFNT.
C: QTRER TFSRALR FToRO WO 20Te BNT STWI S&ent YIFFToNT.
D: NTBL TJFSONON SRR BY FToTO WONW 23¢T 3TN,
Topic: Physics-Section A
Item No: 34
Question
D: 100634
Question
Type: MCQ
| 10gTRé0d .0 woRd m@odacgd. 4.5cm/sIeNT FDTRDJ TOTY Moo ﬁfa-dzado'éd.
Question: 553Q wORT TRHFTEN WHRETY, WORAT ed JIEFNI WO : (FITTY)
A: 3
B: g
C: 12
D: 18
Topic: Physics-Section A
Item No: 35
Question
D: 100635
Question
Type: MCQ
| Beaod oot Feriode ATTNTY, ST 2% O, WITHIBOIRTT Feanod Hed,
Question: | eds rothd, SerpeIRF ¢
A 2% S, BRI
B: 4% BT, 3RZ0IPMHBT
c: 2% B, HO30IRHIT
D: 4% B, ©OIPMHITS




Topic:

Physics-Section A

Item No: 36
Question ID: | 100636
Question
Type: MCQ
5 1 ecm? @3558 30300, ©TT AT HTFTLR0Z Yo Pedords WO :

uestion:

(@T08 : BododH oons M*?oﬁY—leD“ N/m?)
A: 1x107 N
B: 1.5x107 N
C: 2x107 N
D: 25x107 N
Topic: Physics-Section A
ltem No: 37
Question
D- 100637
Question
Type: MCQ
_ 2u0TD TomoFn Yos 50% tﬁt’idbm BRODT. &eT3ET em@:%o:bab 40°C Umo sRDZPRTRN
Question:
Clntel d'ﬁ"@’ 30% O’mo ﬁz&améd’mwé To&0BTTTL W%g.\_ﬂ?m

A: 166.7 K
B: 255.1. 1K
C: 266.7 K
D: 367.7 K
Topic: Physics-Section A
Iltem No: 38
Question
D- 100638
Question MCQ

Type:




83 BYR QTR BeVINTI, AeRT.
BeEL: 2.0 STBF BT IREODYS Bedne FooK0 Boensy tHBoDT, SBOOVAT.
BeeFI: SAOTYT SINRTF SRS rms B[ v SNT. wgﬁa’oﬁoa’n Qrbeaﬁh@amﬁ

Question: cﬂma:sa’ﬁ Sroneh DoiReHE RE0D SIRBTE TOBPEONTOSI. rms =T
21105@2'{):?’53

Seds ﬁe@éﬁ@a‘ni ﬁmmg@?@om ot &fa&id)a‘ 6:303%?1%‘3@2 éaﬂgd R8T mgdaia‘oi
&30 A

A: DePB 1302 De9E 11 QTRN ZOoIRNS

B: YT 133 2ePs I 0BR 3@3?\&3

C: 29T I OO3HNE S0 IDevd 11 émwﬁﬁ

D: 2T ISE@wﬁC? SRC 2ePF I1 RO0IRAT

Topic: Physics-Section A

Iltem No: 39

Question ID: 100639

Question Type: | MCQ

- 27
Question: y=05 5111— (400 t— x) m 3gonm = RDeFTERTY) STONT Renay) :
A 200 ]I'I/S
B: 2002 m/s
C: 400 ]I'I/S
D: 400/2 m/s
Topic: Physics-Section A
Iltem No: 40
Question
D: 100640
Question
Type: MCQ
T 40 pF qmcﬁs:s’od)a’n BRODTT HTHE qmcﬁsrf%fa’o Nd?éod)@? BRoeRad. o8 mtﬁ'v‘tj@
Question: | LOTT RWIWS mrma‘b Kd @@%E‘ Nmoﬁzj a’ﬁn&mocﬁ zjaF DRBFRNT. HTO0T T8

daﬁfuodo DoT0T3030 24 wF E:B'ﬁo@’t:?om:ﬁd Ks 23@30&)3




A 1.5
B: 25
C: 1.2
D: 3
Topic: Physics-Section A
Item No: 41
Questi
DO 100641
Questi
T;pees: ion | vica
Question: R; SReBITVT 2,000 B0S0R), BT PR NWFT LTVRTE, TWoRod &HRT
TN agonernBosntd, B0soh BRR BRG I RO BREGRY ST :
A: 9.1
B: 1:9
C: 4:1
D: s
Topic: Physics-Section A
Item No: 42
Question ID: | 100642
Question
T;pe:I MCQ
méwﬁmfmmﬁtﬁ ebcbéaf To® ma-ge E"_\JJ\%_%JO&JOS)E\'Q{ QRO0D é%ﬁuﬁamﬁd
(A) RIY Fos3ohm, BRD FRHFTOOT
(B) BooZBFeZHR), 008 IRER)TOOT
Question: i
(C) =OTLYOD DACEF VI, IR IPWRPHTOOT
(D) =oToeod &Toess Rémoﬁwadaol FRIDRRLRFTO0T
o &ra@écbaﬁ Eﬂoﬁ%ﬁ%ﬁ@g %aﬂ% mgmd Emu‘;s’pddmi DA,
A (B) 53 (C) &7,
B: (C) ) (D) SR
c. (A) B3 (C) B2




D: (B) 53 (D) S0
Topic: Physics-Section A
Iltem No: 43
Question
D 100643
Question
Type: MCQ
WIBY SRDANT/OZ 045 kg m ! JeDeod HOTWEOD 2,00 GReBT BOYR, 38w
45° 36T YLOENTIPRTE 2,000 IoP LT IBorw FHhed iéumﬁ QBN ©OW
Foewn D DIIQ 9TT e 0.15TT 503D BSFATT TT¥EY 3 TI0RQOFLY LT
B|NETVOBT BOONLITT ﬁ&"cg gmﬁ@ :
Question: | {Use g=10 m/s?}
B Al
45° 1
A 30 A
B: 15 A
C: 10 A
D: 3 A
Topic: Physics-Section A
Item No: 44
Question
D: 100644
Question
Type: MCQ
2,000 2P Beodeod WOROTYT TeBT [iNeFT) 5 sin(49 wt—30°) €N, 30 mH
FeTFE0I0TT FeTIR TR RpVOD BETTo)
Question:
[‘n‘ i eﬂﬁd@).
7
A 1.47 sin(49 wt—30°)
B: 1.47 sin(49 mt+60°)
c: 23.1 sin(49 wt—30°)




D. 23.1 sin(49 wt+60°)
Topic: Physics-Section A
Item No: 45
Question
D: 100645
Question
Type: MCQ
BITY SROALTOZ HTRL [RFFONG FVRCT ToodR TRET JOST BYsm  Hen
Uy &) :
({afcplel c=3x10% ms-1)
Question: | Ajr [Medium 1|Medium 2
= pe=1
€. =4 S
C | V1 | Vg
A: 1.0 x10% ms-1
B: 0.5%10% ms-!
C: 1.5%x108 ms-!
D: 3.0x 108 ms-1
Topic: Physics-Section A
Item No: 46
Question
D: 100646
Question
Type: MCQ
Question: 20T FBEPBT BHTTIF IR ToBP, BRCTdEoNY, TRT D) J¢TIW IWIT BRIPY)
N 30 cm N3, Be0RBFER deediod IFFRIOR 2SN BRWH Bonw BRI :
A: 20 cm
B: 30 cm
C: 10 cm
D: 15 cm
Topic: Physics-Section A

Item No:

47




Question

D: 100647
Question
Type: MCQ
n=122 moow & RETTEOW, WHA 20T @6%&% G-wpf)¢ TOMROSTWE,
X
FORDRODWTOTONG. T FCTCRTY x B2 !
Question: | 0L m=®@%65% Tod
P=2d80Ts Bome I0=Ioe
K=ad®ma's 80338
V=pododg SerecgRmrBdneoms g8
A VmK
B: \/13
C: \/Iz
D: : ,‘V
Topic: Physics-Section A
Item No: 48
Question
D- 100648
Question
Type: MCQ
7
_ i -
Question: 2,00 QFTFRHE [RNT Sor ol H38ry 60 DNYNTT, wheeTedoD 3 T, DepLdiRgLD
IADERRT O :
A: 120 days
B: 130 days
C: 180 days
D: 20 days
Topic: Physics-Section A
Item No: 49
Question ID: 100649




Question Type: | MCQ

Question: ira-@,gdtbas eﬁoﬁgim@ [o08Re3T rbramﬁs&?%odaa‘bd 3 8A.

I
A:

V
I
B: + i
SV

I

C:
V
I FY

D: M / ‘

( V'
Topic: Physics-Section A
Iltem No: 50
Question
D- 100650
Question
Type: MCQ
Question: 290 &BIEHOP gﬁﬁmd@ &)d@ﬁﬂ@@m&ﬁ(}dba’% 3%?3@3 30T STLHRIES m-zs‘%oﬁsé)

BN E

A: = 3 )
B: T 1
C: 7= 2




D: = 0
Topic: Physics-Section B
Item No: 51
Question
D- 100651
?ues.tion Numeric Answer
ype:
. A A A A A A
Question: | j +2j + ak 0 DT TFeTE 27 +4) — 2k IRTTHRTT al WS
Topic: Physics-Section B
Item No: 52
Question
D- 100652
Que§tion Numeric Answer
Type:
ZoaoN S0T00AT 0T DTS BT ool 211083 30 QENTTINTD, BRTRRT
Question: WBTERT \%Egéo\‘m B EAT md@ &bégﬁoé 64 dmwﬁcﬁ. 83 ©@3TERoln mtﬁi\‘émﬁ
ToORFARF P mc:sémrbas ﬁ?)% vlonein) notinso.
Topic: Physics-Section B
Item No: 53
Question
D- 100653
1Q_ue§tion Numeric Answer
ype:
ORONE 2.0 QR 30R BJEIRNTY, 560 nm S 2,00 ST’ ¥R WTFWoN TJFed
Question: OLFRAYDH 7.2 mm SOITT [ 3e¥0Ed W TOODD, YVOLDTRWIT. S 8.1 mm HOBTITOS
| oDIDHTE TS OINRYRD, ORI BI¥H [T BRHTWOOD), YVOLDFIPBTCINRTI
ATRS LY STOMOSTH) nm.
Topic: Physics-Section B
Item No: 54
Question
D- 100654
Question

Type:

Numeric Answer




Question:

212 rad s~ 08 232 rad 57! 9FNYY 2omd LCR ¥Ted oBOCYT TImoBT D0

Slnlol ﬁaag e33od 4 d'mwrb:?’pd. OBOTYS Ceert Bdady R=50608 33 DHOBOTYT

J2
BoPo Beosodn mH.
Topic: Physics-Section B
Iltem No: 55
Question
D- 100655
Ques.tion Numeric Answer
Type:
BIBY 00ATTOZ 4V emf BT .00 TRTed3 dped ) dweg Bk (RBITED,
300 cm 0g3 08 20 BReENTE ﬁ.ra-&ﬁegeoi:a- SNEEITT Bo8nt Jedad. afoorsoéﬁ deer
BLionY RO, S¥SBRBATT 20 mV 3 2,00 8pe3E 3RT, DOWZZ, 60 cm IY
ﬁocéo&ra-%@acﬁd’ R & 383030 Q.
Question: 4V
i -E—
A B
L —©
20 mV
Topic: Physics-Section B
Iltem No: 56
Question
D- 100656
Ques.tion Numeric Answer
Type:
owen 1.2x107% Cm 0@ 24x107%° Cm OB DTINNT TR QR FNGD,
5:@@?\ 5x 10 NC- 1:9:3’0 15><104 NC-! &ezB30D T 23ed 3ed ARTRT DT
Question:
$e3t9¢ QORTINBOIRTS DT,QFFH RGP NoT G SHMIY — ¥ x
@ X
8 2330dw
Topic: Physics-Section B
ltem No: 57
Question 100657

ID:




Question

Numeric Answer

Type:
320 Hz & e%%oda é@%odaa’oi mmg&a 660113 36 km/hr deﬁtﬁ@ 2,0TR zﬁégdtj &M
Question: | BORED O LE 20T BEFAOL), FPXIRWTS. MLODY BT Jertey) 330 m/
s SNE03RTT B3 g@q&od) G%%Odao -
Topic: Physics-Section B
Item No: 58
Question
D 100658
_?;pees:tion Numeric Answer
1750 kg m >3 Z0TE0RYS 2,08 TRRE e 0.35cms ! STTY 200 ™Y YD
Question: | 2mmIRAF) JTwoN DOICIRTLITOIRTT RFERT ATIECDL IBNOTY) poise
(MRPOD TOTZONT), JOMITRNY)
Topic: Physics-Section B
Item No: 59
Question
D 100659
?ues.tion Numeric Answer
ype:
E 30m3300g BOMIWST (WSHY Spe0ATOTOE) ‘m’ Tod0D 2.0 RT” IF, HWIY,
WEERROATN ATPODT, 25 cm TRVE ﬁoﬁaaﬁa’r{@@mgd UTOSRENATDT BTV
TP }TROTT e33030 nE Nm 1e838 n 8 Sdodn
Question: -
m
DT Hed
Topic: Physics-Section B
Item No: 60
Question
D- 100660
Question

Type:

Numeric Answer




33:3’;5@2 3RCDATVWOSE, Tee mé?d ‘a’ abra?n ovd ‘M’ 9o RIS QTFOCSOD zsgﬁ%fa'od
FIAROONT. 00 whed FTH0h wEP HBYY  Ma® $TS xeidod
T0O
Question:
10
Topic: Chemistry-Section A
Item No: 61
Question ID: | 100661
Question
Type: MCQ

Question: g%“ﬁﬁ@ﬁ@@j 3@5 £f@éodami TOTERR D,

A: SRIODTT AT a@%‘%&?‘ BORWT WBF CTOT PR, R0 ﬁﬁ Q0T @f}‘?pe?qﬁud
B: TTBVIVERWTY, 20T FBTL) 2,00 @@%ﬁ‘?& 30ON POI () NT.
C: BRCTT TINY QTDTOD), BWRRT SReLIF) SoNOWTT.

_ n 38, 1 T08TF FoLMPOT [PT, TFUDIMW FFINYIY, FdXeTUd
b: (coge8e80te ) RROTTONG.

Topic: Chemistry-Section A

Item No: 62

Question ID: 100662

Question Type: | MCQ

Question: FENSTRINYY 0350:)TT FoW 0T FOOITNY 2




A: AH = AU-PAV
B: AU = q+w
C: ﬂsﬁ.ﬁ* i &Ssmdre(adazdj =0
D: AG=AH-TAS
Topic: Chemistry-Section A
Item No: 63
Question | 490663
Questi
T;pees: ion MCQ
ﬁ&é- I R’D:l ﬁ&é- I1 ol BrodA.
ﬁ&é- I ﬁéﬁ- II
(A) Cd(s) + 2Ni(OH);(s) = CdO(s) + 2Ni(OH),(s) + H-,O(1) (I) @dmﬁ 33‘%&36
(B) Zn(Hg) + HgO(s) = ZnO(s) + Hg(l) (1) 230TWO 23%&5@0630
. QTRTED (NAKFN)
Question: R
(C)  2PbSOy4(s) + 2H,O(1) = Pb(s) + PbO,(s) + 2H,SO4(aq) (1) QORI e
(D) 2Hs(g) + O(g) = 2H,0(l) (IV) it loleto) 2:)%&300330
TRTERPRTTD.
YN ﬁfoﬁ%ﬁ%ﬁg pstelevenia! wﬁd&ﬂabal ©0A.
A: (A) - (D), (B) - (), (C) - (LTI, (D) - (IV)
B: (A) - (IV), (B) - (D), (C) - (1), (D) - (1LI)
C: (A) - (1), (B) - (1), (©) - (IV), (D) - (IlI)
D: (A) - (I0), (B) - (1), (C) - (I1I), (D) - (IV)
Topic: Chemistry-Section A
Item No: 64
Question ID: | 100664
Question MCQ

Type:




ﬁég- I a’oal ﬁé{s- I13polnt BrRoDA.

ﬁéﬂ- I ﬁéé- II
3% Zen Jo=3re
(RenIFee)
(A) 4NHjz(g) + 50,(g) = 4NO(g) + 6H,0(g) (I)  NO(g)
Question: 1 (B)  Nj(g) + 3Ha(g)— 2NHs(g) (I)  HySO4(0)
C12H»0q1(ag) + HyO(l) = CgH1pO04 + CeHy20g
© nEecT  gieer (D PHO)
= = e
(D) 2S0,(g) + Oa(g) = 2503(g) (IV) Fe(s)
3SR eBDS eﬁoﬂ%ﬁ@g‘g RO QvEBT SOR.
A (A) - (1), (B) - (1), (C) - (1), (D) - (IV)
B: (A) - (1), (B) - (II), (©) - (1), (D) - (IV)
C: (A) - (1), (B) - (IV), (C) - (1), (D) - (1)
D: (A) - (1), (B) - (II), (©) - (IV), (D) - ()
Topic: Chemistry-Section A
Iltem No: 65
Question | 490665
_?;pees:tion MCQ
§9NT IR ARRNYY SHNYYR Fe38 TBDNY SSTTNEE SoTONED BT (IWT)TBYSS
D@0 WO WNT.
(A) Rb Cs
Question: | (B) Naa3y K
(C) Ars® Kr
(D) Isha) At
%@ﬁﬁ@ﬁ@@ X0 m‘_?:d &0A.
A (A) &‘b@% (B) m:_e;
B: (B) &i)égp (C) R308,




c: (A) B (C) IR

D: (C) 3 (D) B2

Topic: Chemistry-Section A

Iltem No: 66

Questi

Dot 1100666

Questi

T;pees: ion MCQ

| 3YATYNSY oinm 303050 R H5S (T30D)R0T ©OT, OBORLD (Twd) TO

Question: & ~ ) —= < =
BROTNWTONS 2

A: 2(:1128 + 3‘02 —)2(:1120 + 2802

B: Fe,0, + CO — 3FeO + CO,

c: Al,O5 + 2NaOH + 3H,0 — 2Na[Al(OH),]

D: Al,O3 + 6Mg — 6MgO + 4Al

Topic: Chemistry-Section A

Iltem No: 67

Question ID: | 100667

Questi

T;pe; ion MCQ

Question: | TYTFS LHITOOT MR LTI, FRARTAIIN GVOLRTHT ARITH VTN

A Ca(OH), %23 Mg(OH),

B: CaCOj; 33 Mg(OH),

c: Ca(OH), =3 MgCO;

D: CaCO; 33 MgCO;

Topic: Chemistry-Section A

Iltem No: 68

Question ID: | 100668

Question MCQ

Type:




Question: | FYNT BeYENTY 0ITPPT FOCIPNY ?

A: 2003 LiF S 3@ 2933R vrs 38 wdesdee (B ReTID) 0oty T0emeNa.
B: KO, 080 e,0950080R0NE.

C: TR ©ORREAOTRTOT BRCRONTT TRWEF) WTISOR PWEYT.

D: BRCRODTY ST TRERNACNRT SRTHOT YT E TOTE BRODT.
Topic: Chemistry-Section A

Item No: 69

Question ID: 100669

Question Type: | MCQ

ﬁéﬁ-l T 2e3 ﬁéﬁjﬂ - 11 Efq_l TRODA.
B 03RO 30HONY WINE BROWH BAVTD, BRRA.

e - I g - 1
(A) (NH,),Cr,Op —2 O H,
aueston: 1 (B)  KMnO, + HCI — (@) N,
(C) Al+ NaOH + H,O — () o,
(D) NaNO;—2 Iv) Cl,

3YNT SORNYY TO YIT[I, SOA.

A) - (1), (B) - (1), (C) - (1), (D) - (IV)

(A) - (

B: (&) - (W), (B) - (1), (©) - (IV), (D) - (II)
(A) - (
(A) - (

C: A) - (1), (B) - V), (C) - (1), (D) - (L)
D: A) - (L), (B) - (IV), (©) - (), (D) - (1)
Topic: Chemistry-Section A

ltem No: | 70

Question | 490670




Question

Type: MCQ
Question: Q&m@jﬁ@od H, 5?\‘% DBINB BPTD ﬁ?d% gﬁa\i (w@)odm% %@ﬁﬁ@ﬁ@@ 0JTRFT
S0P 9
A: Cu
B: Mn
C: Ni
D: Vit
Topic: Chemistry-Section A
ltem No: 71
Question
D: 100671
Question
Type: MCQ
TSN AT £e@%ﬁeﬁmi NeRT.
DePFI: DA DTG DIRRROT Sy & BODLTE3 aﬁi’@@éﬁ% 8 RN,
Question: | PewFII: ©3 TPETTeo (VOB POB|SEAD)T TOTTODTN VOETAROT SRHIT B2
QAPFOITMOT)TR.
BT TeVINTZ, NP, IENT SoRNYY B0 WITIF, BOA.
A: Ted 15302 Dee? 11 Az 0N,
B: R0 13303 2eed 11 3@?\5.
C: DT [ AR ST Dewd 11 émwﬁtﬁ.
D: e 133 =00 RBewd I AkoNG.
Topic: Chemistry-Section A
Item No: 72
Question ID: 100672
Question MCQ

Type:




a&eg- I13e0in weg- I1 ?Sagl BReRa

ﬁ&é- I ﬁéé - 11
(A) Q () % Bwe Bookosrisd
| (B) ><l>< () ©iReRRE® Boos0y

Question:

(C) ]>< () 3VeoPBYT FedSRF s Foownd

(D) @ (IV) 23388 ook

FYNT Eﬂo&%ﬁ%‘fg "O @vZT BOR.
A: (A) - (1), (B) - (1), (©O) - (IV), (D) - (III)
B: (A) - (IV), (B) - (1), (C) - (1), (D) - (1)
C: (A) - (I, (B) - (IV), () - (), (D) - (1)
D: (A) - (IV), (B) - (ITT), (C) - (1), (D) - ()
Topic: Chemistry-Section A
Item No: 73
Question ID: | 100673
Question MCQ
Type:

BROOT FONMVMON FOOIRNTOT GORDE, SOA.

e
ion: BH Hg(OAc¢),, H,O
Question B < ( 3)2 - HSC—C—CH=CH2 g( )2 2 -
Hzogf OH | NaBH,
CH,

A: ‘A’ &Saa_}p‘B’ RORN BRE DRBRFT Tt H03OS w%ﬁiﬁ%.




B: ‘A0l [RIRFTATD'E QIF, BB, B F:RPERF T ATRE Q0T IONG.
C: ‘AT ‘B CBR A T3[R REF D ITOR © w%ﬁ%ﬁ%ﬁa’.
D: ‘B’ 000 [RIRCFTTATRT I ‘A’ 0R0 TEBPIRFDRRDT GOIZNTOND
Topic: Chemistry-Section A
Item No: 74
Question
D- 100674
Question
Type: MCQ
Question: %%ﬁﬁ@ﬁ@@a oD IRET ﬁ@emm@% o3RRI ?u‘oodmi@ @@’50@’ ﬁ?b"og pK, 55965
BROOT 9
H
A:
H,C — COOH
H O
B: |l
H
C
C: H3
O
H
OH
D:
O
Topic: Chemistry-Section A




Iltem No:

75

Question ID: | 100675
Questi
T;peei ion MCQ
%’Ja-&itbﬁ 3035 ge@odag CIAONED W%ﬁqﬁ%tﬁ A&%Bﬁ@&d FOTYRER D,
(I:I
1) CH,CHCH,, AICl
Ezi o, 3 3 3 Na,Cr,0,/H,S0,
Question: ) > P > A
(3)H , HZO _
Brz in C52
®
OH OH
A: EIIld @
Br
e OH
B: and @
Br




0 OH

Br Br
c and
®) Br
OH
H
O Br Br
D:
and
Br

Topic: Chemistry-Section A
ltem No: 76
Question ID: | 100676
Question
Type: MCQ

FER VeBRTOT TO[SE (ciramoa’cﬁza%) o A0CTINTIW aﬁ’f@%’oﬁam% 803,

C,H-ONa
Question: | CH,—CH,-CH,-CH-CH,———> A + B
tls . 9 Hs CH;O0H (gmned (O «oIs)
ON(CHy), 03
P

A: A - CH;CH,CH =CH—CHj, B - CHyCH,CH,CH = CH,, Zexa¥3 «03Fish
B: A - CH,CH,CH=CH - CHj, B - CH;CH,CH,CH = CH,, m&@®& 03I
c: A - CH,CH,CH,CH =CH,), B - CH;CH,CH = CHCH,, So5*®& 033 is0




D: A - CHyCH,CH,CH=CH,, B - CH,CH,CH = CHCH,, exfS @03z
Topic: Chemistry-Section A

Item No: 77

Question ID: | 100677

Questi

T;pees: ion MCQ

Question: FINT CIRPYNY TPORLTTLROT WOOT WTHVFATJIY, BROTWTVTNT.
A: 9P -1, 2-B e ) WeoeT -1, 3 B zoeer 30T G

B: ﬁ@fﬁfsﬁs-l,,?-tﬁdﬁ:'f@ B eleon3en®-1,4 zé’d'ﬁmFi@'ﬁ‘ S|

c: VF-1, 2-F B D) BeoRew-1,4 BFownF 0T

D: QP’-1, 2-B B D) BeoRew’-1,2 FFormF 0T S

Topic: Chemistry-Section A

Item No: 78

Question ID: 100678

Question Type:

MCQ

Question:

DERTT 380D DLW (X) TN :

HO_(|:—H
HO—(ij—H
H-C-0OH

CH,OH

(X)
IINTIJNYY O QTN T TAReT S TeI[OID




HO =
OH
A: OH
HO |
OH
HO =i
OH
B: OH
HO |
OH
HO ]
C: OH >
HO OH
OH
HO =
HO OH
D: OH
OH
Topic: Chemistry-Section A
Iltem No: 79
Q .
uestion 1400679
Question MCQ

Type:




éE‘g‘% ATRFT BIRONY DO 39NE ﬁe@%ﬁ@a’oﬁl QeRT.
(A) HFErewdod ) HHncwohs AoRFE BIONS.
(B) @) $030dcw FeoT (F3eod Wor)Nsd wB) WSRLADT FeoT(Ton)RIR VoW YR)

tion:
Question: |y HTRes0D BROOK VR0 Be0BRYRL, TVKRT BROATONGS.
(D) HHrcwitks BIQRW 303Rew FeoTNIa, W0WE BIQNTNS.
YN GOﬁ%ﬁ@Q stelonenlatovin em%cﬁ B304,
A: (A), (D) &33??_9?
B: (A), (©) aﬂ:m:gj
C: (A), (B) amg
D: (A), (B), (C) mg
Topic: Chemistry-Section A
Item No: 80
Question
D: 100680
Question
Type: MCQ
TR (Bresod) TonY WolRtdE BoIRDERODNT HyO,3050D BOB0D STHODTTYN :
(A) OdmTenLR BRATIN TCIPOAT ARFF TR YLTOIRENTECR.
(B) odmsmnow AreRodhaIF Podremdens mpmeen ToBonm, KImpResos 3R
QWL e.
Question: | (C) Qe ey Fo® BRESe (Frosse) ATODTR, woLOTIeR.
(D) 2ed ey Foredm Sooefode FIODII, woLITIeR.
(E) cimemniown AnelRoday goleeades muns mogodhs, Klameedos seiriode
Q@LIeR.
TR QeRTT SoYNYY O YVTT BOA.
A: (A), (B), (C) aﬁ:mé
B: (A), (D), (E )aﬁma’
C: (D), (E) =3
D: (A), (B), (E )&S@é
Topic: Chemistry-Section B




Item No: 81
Question
D- 100681
Ques.tion Numeric Answer
Type:
%Ja-&épod 3odoron
X +Y + 3Z SXYZ,
Question: | 2,003 RBee® "X P 1o B Y RERCOR 0.05 BRTFER, Zw) XYZ; ZoodsT),
QEBDPHTL. WZS0IRT XYZ, o0 g 1YY (RnewT Beeer Modd)
(Eﬁ-.';ﬂ'; : XY &be‘%Zﬂ@ TTWIoEN TodNsL Fzowsen 10, 20 a‘:oa_)p 30 amu R$RNE.)
Topic: Chemistry-Section B
Item No: 82
Question
D 100682
_?;pees:tion Numeric Answer
WO Hodd ‘M’ ) FoOR %eogzg’p T EoDd TuT deeTy 300 pmdeed wordideodR
Question: | BBCTTLONRORT. NS FOTZOWD 6.0 g cm ~3THIT. 180 g B, TORNTE FORRITT
TORTERRY F0B,05 X 10%. (BQ0enT Berer K03
Topic: Chemistry-Section B
Item No: 83
Question ID: 100683

Question Type: | Numeric Answer

FPNTZNYY TR 00B00E0W TgeTne ﬁo@%o:’m

Question: = 5 o 4
Topic: Chemistry-Section B

Iltem No: 84

Ql.festion 100684

ID:

Question

Type:

Numeric Answer




150 g 3, ©AWET SRHT FPRCFOR VOB, (rx 1071 Cavren 10.2 g 3W), ©AVFT
% (CHO,) Brodnt BITRRIRLANT. TomEd 18 SPOP)

Question: | (FVRTFOF YVST)
[38 : K,=3.9Kkg mol 1]
[©TNFEF ST Beeces” Tododw =176 gmol ™' SNT]
Topic: Chemistry-Section B
Item No: 85
Question
D- 100685
_?;pees:tion Numeric Answer
&JJ%@BBEE v (GH,COOH) © K, ?:59@5@ 2x107° =nd. 0.2 M mﬁwt’h'ﬁf bW
Question: @ws@d pH &@)5@@53\5) - Xlo_].
[ZE :log 2 = 0.30]
Topic: Chemistry-Section B
Item No: 86
Question
D- 100686
_?;pees:tion Numeric Answer
QERTOE TP rnp~t ﬁo&smﬁ
A—B
Question:
30500 Wrorodng) 0.3010 AQ0TesNES. §030TO0D FTYTCOPT FTB0IN, 2 ANH FOTYS
$03RTOCEH TTBCIROONT YT — 1 TIDTND. (BeTT Bpeor Koss)
Topic: Chemistry-Section B
Item No: 87
Question
D- 100687
Que§tion Numeric Answer
Type:
Quest %@ﬁ?ﬁ@ﬂ%‘fg 2PBeOD QTNCROD Tedd BROODLE 03T méci:aeasafﬂ@; ma%om
estion:
"SI CIF,, IF,, BrF,, BrE,, LCL, IF,, CIF, CIF,
Topic: Chemistry-Section B

Item No:

88




Question

D- 100688
_I(?;pees:tion Numeric Answer
R0 JRFTHIY MnO3~ & €XRRDTTT (L3R 90IRAT RGEE)0D TOFamO0mN
Question: DTRE BRONAETT FOORINFIT AN BN ¢0otmdasl). Mna ¢ugxF e Rgpéodao BzQ
' A No3 sRIDWP. ‘B’ S AN mg To03 &*05:?; (@&bééo:’m)‘eé) BM.
(Feezer o8 YUET)
Topic: Chemistry-Section B
Item No: 89
Question ID: | 100689
_?ues.tion Numeric Answer
ype:
i P2 oem— : OTATN) ) 9 3 = == 3
Question: Eﬂ%&?iﬁ’&ﬂ) Foderar [Culen),(SCN),] mon mqﬁe@“ﬁaﬁwd SIAT fﬂ_}cﬁé 2ROODLF ARPoNne
2083 moaﬂéodw :
Topic: Chemistry-Section B
Item No: 90
Question
D- 100690
?ues.tion Numeric Answer
ype:
G, 1, mégﬂ @] rf%fa’xrac-fériraozz 0.492 ga‘a"% pSpIn{eN e IN] ﬁoo:ﬁwiag TROF TIINLORD
Question:

0.7938 g 3T, CO, 30 04428 g H,O 00tdER@®SE, FOoRIBYME S8%as Se3m@m00
Roodnpexodn O 9




